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1. CH1 (Single-trace operation)
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Vp:( peak voltage): (Vat/DIV) (a)
Vp-p:( peak to peak voltage )= " (b)
Vet Vpi+2
Frequency (HZ)=1/Time
Time= (c) - (timeDIV)
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1.AC-GND-DC AC AC
2.AC-GND-DC GND TRIGmode AUTO AUTO
3. AC-GND-DC DC DC =
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1. SWEEP-TIME/DIV X-Y INTTRIG VERT MODE
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X-Y  (t=0,1 step=0.01)

1. x=cox2pt
y=cos2p t

2. X=cox2p t
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y=an2pt

3. x=coxpt
1.
=—dn 2
=5 pt
4. x=cox2pt
1. p
=—9n (2pt+ =
Y= (2pt 4)
5. x=cox2pt
y=cosApt
6. x=coxZpt
y=9rdpt
@ tigger ()
©) ? /
?
(4) duty cyde?  risngtime?  falingtime?
1.
Vat/DIV=
TimeDIV=
Vp= f=
Vp-p= Veit=
2.
2. Lissgous pattern



()-=1
@ =3
oL
M =2

fo_,

@ -




—~~
e
—
x
I
Mlw

<

_.,
N W

<

4.
(@) Lissgous
A
B
0
2
t=
T=
0
5.
2V
@ =2_
T

T




(b) =3/4_

© =1/2

(d) =1/3
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(1) V() :4s'n(%t)
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d) V()= 4cos(%t +%)

2. Lissgjous
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